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Question Number : 1 Question Id : 7715134856 Question Type : MCQ Option snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

S parameter matrix of a 3-port circulator is

001 010 100 001
a) 100‘ b) [001] c) I{}IU‘ d) [01{}‘
010 100 001 001
Options :
1.a
2.b
3.cC
4.d

Question Number : 1 Question Id : 7715134856 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

S parameter matrix of a 3-port circulator is

001 010 100 001
a) 100‘ b) [001] c) I{HU‘ d) [010‘
010 100 001 001
Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134857 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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efiied q¥ dul K d8 @1 319/ ... . §/Frequency of mm wave and K band are

a) 30-300MHz T¥l/and 12-18 GHz
b) 30-300MHz d¥l/and 18-27 GHz
¢) 30-300GHz d¥l/and 12-18 GHz
d) 30-300GHz d¥l/and 18-27 GHz

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134857 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

efiie? q¥ aul K d8 @1 39 ... . §/Frequency of mm wave and K band are

a) 30-300MHz T¥l/and 12-18 GHz
b) 30-300MHz d¥l/and 18-27 GHz
¢) 30-300GHz d¥l/and 12-18 GHz
d) 30-300GHz d¥l/and 18-27 GHz

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134858 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 JYddRe &1 8 il T/Pick the equivalent device of an isolator

a) TfeRIY®,/ Resistor

b) & URadd/Buck Converter

¢) SHig/Diode

d) ffiafifa uRad®/Boost Converter

Options :
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1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134858 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 JYddRe &1 9 Yl TH/Pick the equivalent device of an isolator

a)  WiRIYH/Resistor
b) & URadd/Buck Converter
¢) SHiS/Diode
d) 3fiEffq ufad®,/Boost Converter
Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134859 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

X WRHER @I ... & U IUFT fbar Wl §/X parameter is used for
a) dgq Maw e TR & HfH WD gTHi

Linear components under large input power levels
b) @Y Fd¥ T TR & HdH JEd geai
Linear components under small input power levels
¢) Y A TiE &R b S SR Hew]
Nonlinear components under small input power levels

d) geq Fa9 Ui &R & HH REd gesHl

Nonlinear components under large input power levels
Options :
1.a
2.b
3.C
4.d
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Question Number : 4 Question Id : 7715134859 Question Type : MCQ Option snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

X WRHeR @I ... & U IWNT a1 ST §/X parameter is used for
a) 9gq [Ha% dd TR & e IS g

Linear components under large input power levels
b) @Y Fd¥ T TR & HdH JEd geai

Linear components under small input power levels
¢) Y A TiE &R b S SR Hew]

Nonlinear components under small input power levels
d) geq Fa9 Ui &R & HH REd gesHl

Nonlinear components under large input power levels
Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134860 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafed & ¥ oH-3 gfd, B3 g Rl &1 S &dl 82

Which one of the following device use Faraday rotation principle?

a) 3-Ul¢ URTER®/3-port Circulator

b) FHU/IMPATT

c) 3-U IR WHISd/3-port Power Divider
d) AR d/Magic Tee

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134860 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fafdfed & ¥ oH-3 gfd, B 9o Risld @1 9w oxdl 82

Which one of the following device use Faraday rotation principle?

a) 3-UI¢ UR¥ER®/3-port Circulator

b) SHUC/IMPATT

¢) 3-UI Ui WHIEd/3-port Power Divider
d) A <i/Magic Tee

Options :
1.a
2.b
3.C
4.d

Question Number : 6 Question Id : 7715134861 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T @R Aferdl &1 J% @M ... 8/Main advantage of Travelling Wave Tube is

a) J« c&fdl/High Efficiency

b) I 3M4fI/High Frequency

c) JoIfdd/High Power

d) Y= dg fa%R/High Bandwidth

Options :
1.a
2.b
3.C
4.d

Question Number : 6 Question Id : 7715134861 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T @R Aferdl &1 9 @Y ... §/Main advantage of Travelling Wave Tube is

a) J c&fdl/High Efficiency

b) I 3MaRI/High Frequency

c) Jo¥idd/High Power

d) J= ds fa%R/High Bandwidth
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Options:
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134862 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wdieg @I L1 dY LS 3gfadl ... g/L1 and LS frequencies of GPS are

a) 1227.6 MHz d4l/and 1176 MHz %HR:/respectively
b) 1176 MHz d¥l/and 1227.6 MHz ®HH: /respectively

c) 1575.42 MHz d¥l/and 1176MHz %HIT:/respectively
d) 1176 MHz d¥l/and 1575.42 MHz $hHY:/respectively

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134862 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WGy @ L1y LS MgRaal ... §/L1 and LS frequencies of GPS are

a) 1227.6 MHz d¥l/and 1176 MHz %HI:/respectively
b) 1176 MHz d¥l/and 1227.6 MHz HHR:/respectively

c) 1575.42 MHz d¥l/and 1176MHz %HT:/respectively
d) 1176 MHz d¥l/and 1575.42 MHz $hH:/respectively

Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134863 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
...... T 3 & T A ¥ TRd) YA Had 1 4T A 9 B 81

Attenuation of microwave signal passing through the atmosphere increases with the increase of

a) M1gf U gl /Frequency and Distance

b) IGH qu1 g/ Wavelength and Distance
¢) G U1 TfFd/Distance and power

d) Iua 94/ All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134863 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

...... B 31 & Ty TS § oG] YA Yo @1 &0 & i Bl 6l

Attenuation of microwave signal passing through the atmosphere increases with the increase of

a) 3fMgfi TUT g/ Frequency and Distance

b) Tce a8/ Wavelength and Distance
¢) Gl dUT TG/ Distance and power

d) mﬁaamﬁ/ml of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 9 Question Id : 7715134864 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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99 9 (@M gad ¥ Gaiam) ¥ gy RRd @ B 6 [dhd &1 9 B

Select the option in which the frequency stability is arranged in increasing order (i.e. poor to best)

a) fdwa gliedr, VCO, TCX0, 0CX0/Crystal oscillator, VCO, TCXO, 0CXO
b) Vo, fed alftd, TCX0, 0CXO/VCO, Crystal oscillator, TCX0, OCXO
¢) OCXO, f#%d alfed, VCO, TCX0/0CXO0, Crystal oscillator, VCO, TCXO
d) TCXO, fd i, 0CX0, VCO/TCXO, Crystal oscillator, 0CX0, VCO

Options:
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134864 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9TH $9 (@F gad ¥ Gam) | anafy fRar @ Bid fou oo &1 9 &

Select the option in which the frequency stability is arranged in increasing order (i.e. poor to best)

a) fted @i, VCO, TCXO0, 0CXO/Crystal oscillator, VCO, TCXO0, OCXO
b) VCO, fed alfed, TCXO0, 0CXO0/VCO, Crystal oscillator, TCX0, OCXO
¢) 0CXO, F%d alfed, VCO, TCX0/0CXO, Crystal oscillator, VCO, TCXO
d) TCXO, f#%ed gifed, 0CXO0, VCO/TCXO, Crystal oscillator, 0CXO, VCO

Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134865 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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0.5+0.5 @ YamRiigd WqaE, ... ¥ 8/Normalized impedance of 0.5+j0.5 lies in the

a) Vidaren Y =1 @1 QUR o Wi A
Upper half of the impedance smith chart

b) T & dg Bfow W@

Center horizontal line of the chart
¢) Wiaamer By 9 &1 Fg oy A
Lower half of the impedance smith chart
d) i e Juee T 2
Not sufficient inputs available
Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134865 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0.5+j0.5 &I WGHRAGd idamel, .... H §/Normalized impedance of 0.5+j0.5 lies in the

a) Wfaamer By 9 &1 guR ol wm A
Upper half of the impedance smith chart

b) T & P Bfaw W@

Center horizontal line of the chart
¢) Wiaamer Ry 9 &1 Fg o o A
Lower half of the impedance smith chart
d) WiE e I T8 ¢
Not sufficient inputs available
Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134866 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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99 3% ..... 1 el W, df “qidd MR @ 9gF @ T 98 Siehel &1 W fhu o

“Multiple MOSFETSs can be used to increase the power output™, when they are connected in

a) 901/ Series

b) THIdY/Parallel

¢) TYF TAd &/Statement is false

d) 4ot 9 GHiR, &H/Both series and parallel

Options :
1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134866 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

99 3% ..... 1 g o, df cuidd P @ 9gR & T 98 Siehe &1 Wi fhu o
I5d g1”

“Multiple MOSFETSs can be used to increase the power output™, when they are connected in

a) 9ufl/Series

b) THIGX/Parallel

¢) TYF TAd 8/Statement is false

d) 4uff 9 GHfR, &HI/Both series and parallel

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134867 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Fofifed A St # o8 THUGE UG SRUG gl A o 9adl 67

Which of the following measuring instruments can be considered as an FFT based RF Receiver?

a) Jeqo fo%ed/Network analyzer
b) qUiHH faseiB/ Spectrum Analyzer
¢) foReUU fg¥ei¥d/Distortion analyzer
d) MG A/ Power Meter

Options:
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134867 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafafed A Suel § o THUGE SMURG RUG ARl A S Wahdl 67

Which of the following measuring instruments can be considered as an FFT based RF Receiver?

a) death faRIP, Network analyzer
b) quipH faseie/ Spectrum Analyzer
¢) fq®Uu fa%ei¥e/ Distortion analyzer
d) Wi HieX/Power Meter

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134868 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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R T GEAT e o fore I e ot &l 90 vl

Pick the software tools used for the RF and microwave design

1) HFSS 2) LTspice

a) 1,27/and3
b) 2,3@/and 4
¢) 3,4a/and S
d) 1,3@/and

Options :
1.a
2.b
3.c
4.d

4) Simplicity ~5) CADENCE

GET IT ON
Google Play

Question Number : 13 Question Id : 7715134868 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
UG T YEFaeT 3o o foft e WHedmR o &1 90 &i

Pick the software tools used for the RF and microwave design

1) HFSS 2) LTspice

a) 1,2@/and 3
b) 2,3@/and 4
c) 3,4@/and S
d) 1,3@/and S

Options :
1.a
2.b
3.cC
4.d

4)Simplicity ~ 5) CADENCE

Question Number : 14 Question Id : 7715134869 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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g UH & oy Fefiied § oF-0 gide @ SW T8 i o Iedr

Which of the following devices cannot be used for frequency multiplication?

a) ¥U GRAT S/IE/Step Recovery Diode
b) MMIC Wdsi/MMIC Amplifier

c) cifeie?/ Transistor

d) GUNN SHIS/GUNN diode

Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134869 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 TUH & fou Fefaied § oH-w gidal & Suai el fedr o godr

Which of the following devices cannot be used for frequency multiplication?

a) ¥U URFE SHIE/Step Recovery Diode
b) MMIC Wadd/MMIC Amplifier

¢) cifeRed/ Transistor

d) GUNN SHI8/GUNN diode

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134870 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

X(t) = e2u(t) o W-Tgday ... .. &/ The auto correlation of x(t) = e2u(t) is
a) ed/al
b) e™2a
c) e #/al
d) e#2a

Options :
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1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134870 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

X(t) = etu(t) o T-Tguay ... .. &/The auto correlation of X(t) = eu(t) is
a) e/al
b) e™/2a
c) e?al
d) e#a
Options :
1.a
2.b
3.¢C
4.d

Question Number : 16 Question Id : 7715134871 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TN &1 S ... & T T S §/Equalizer is used to

a) ! § Yohd %9 UG @I FeiH/Increase the Signal to Noise Ratio at the receiver

b) I NI IA fdEUU BT WK $¥/Equalize the distortion introduced by the channel
¢) Yobd Gqud @ ¢ WMIOTA FH B/ Decrease the error probability of signal detection
d) WERW & U U e &1 HH S/ Decrease the power required for the transmission

Options :
1.a
2.b
3.c
4.d
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Question Number : 16 Question Id : 7715134871 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

THER &1 ST ... ... o fofu foan il &/Bqualizer is used to

a) W H Yo W UG @I dgH/Increase the Signal to Noise Ratio at the receiver

b) G gRI I [aWUU FI RN H/Equalize the distortion introduced by the channel
¢) Udd UgEd B! ¢ UMK SH H/Decrease the error probability of signal detection
d) WORW & U U Wi &1 S5 S/ Decrease the power required for the transmission

Options:
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134872 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TRIYSG e fAUeis &1 JUado amdT ... .. & JOH B

The isolation of a Resistive power divider is approximately equal to

a) 3dB

b) 6dB

c) >20dB

d) fa=ht =i W FR/Depends on the input power

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134872 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TiRIYS A fAUSis &7 QUadol T ... & J9H &

The isolation of a Resistive power divider is approximately equal to

a) 3dB

b) 6dB

c) >20dB

d) 4zl FeT W R/ Depends on the input power

Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134873 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

QPSK HIgeH WuIell @1 fde & 3R 64 Mbits/sec §, dl SUDI &g & .... gHil
If the bit rate of a QPSK modulation system is 64 Mbits/sec, its baud rate will be

8 Mbits/sec

16 Mbits/sec
32 Mbits/sec
64 Mbits/sec

a
b
C
d

)
)
)
)
Options :
1.a
2.b
3.c

4.d

Question Number : 18 Question Id : 7715134873 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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QPSK HigeH WUl @1 fde @ 3R 64 Mbits/sec §, o 9D dls & .... BAll
If the bit rate of a QPSK modulation system is 64 Mbits/sec, its baud rate will be

a) 8 Mbits/sec
b) 16 Mbits/sec
¢) 32 Mbits/sec
d) 64 Mbits/sec

Options:

1.a

2.b

3.¢C

4.d

Question Number : 19 Question Id : 7715134874 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

2GHz ¥ Ugaq adl 40 A vade ¥ Fufafea s e g

Class A amplifier operating at 2GHz has following S parameters

g [0.510“ 0.05 £ 0°
520° 0520°

fafafaa sy § @F el %JWhich of the following statement is true?

vads, Wwiddy IS §/Amplifier is conditionally stable

a.
b. Vadd, smidey ®E ©/Amplifier is unconditionally stable
C; ﬂ'q’%hi, quidds &IEWQF %fAmplifier is conditionally unstable
d. Yadd, SMidEY os §/Amplifier is unconditionally unstable

Options :

1.a

2.b

3.¢

4.d

Question Number : 19 Question Id : 7715134874 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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2GHz ® UEeH @d 40t A wede ¥ fFufifaa s e gl

Class A amplifier operating at 2GHz has following S parameters
5 [0.5 £0° 005« 0“]
520 05z0°

FRfiEd uAl § $H UEl §/Which of the following statement is true?

a. Yadd, Guidsy RS §/Amplifier is conditionally stable
b. ﬂ'q’%hi, HUfdae ?iﬂ'aF %fAmpliﬂeris unconditionally stable
c. Yadd, Uwiday 3 §/Amplifier is conditionally unstable
d. wad®, amiddy 3E §/Amplifier is unconditionally unstable
Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134875 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIS 1 VT e B & (oY U St MR RTH,  128%128 7 Bl g U A 1 3R
ARG TR 2 v 7 0T (g ofka) 20dBm 3, o ogg @ ot R Samgamedt fove
27 (vdd 7a &1 e 5dBiR)

A 5G base station employs a 128x128 element phased array antenna for serving users. If the
RF transmitter power per antenna element (including losses) is 20dBm; what is the

maximum/peak EIRP of the array? (gain of each element is 5dBi).

) 46 dBw
) 67 dBw
) 16dBw
) 37dBw

o g B

[ =

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134875 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

ST & a1 TH B3 & o0 T 5ol SR ®9H,  128x128 7 el o U] e 31 3R
HRUE FaR WG 7l 4 U= (9 Afeq) 20dBm g, i ogg ot orfiram/ AR gamgemdt foe
20 (709 70 31 o SdBiR)

A 5G base station employs a 128x128 element phased array antenna for serving users. If the
RF transmitter power per antenna element (including losses) is 20dBm; what is the

maximumy/peak EIRP of the array? (gain of each element is 5dBi).

a) 46dBw
b) 67dBw
c) l6dBw
d 37dBw

Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134876 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I dex ufemr Sdw L W R §/Error Vector Magnitude EVM depends on

a)  3Mgf/Frequency

)
) e/ Power
)
)

o o

®fl ¥d/Phase Noise
Sudad Tt/ All of the above

=

Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134876 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I 9’ e e L R R §/Error Vector Magnitude EVM depends on

)  3Mqfd/Frequency
b)  idkd/Power

¢) @l Wd/Phase Noise
d) ITa F¥i/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134877 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WRbeR 3l ..... @ folU Wad a1 T 8/Prescaler is used for

a)  3Mgfd fdHTSH/Frequency Division

b)  ¥@ LdB0/Reduction of noise

¢)  3mafd TUH/Frequency Multiplication
d)  3MgRT WaHH/Frequency amplification

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134877 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WbeR &l ..... @ foTe yged foban SIdl §/Prescaler is used for

a)  3MgRd fdHTSH/Frequency Division

b) @ EU/Reduction of noise

¢)  3Mmafd TUH/Frequency Multiplication
d)  3fidfd WaeH/Frequency amplification


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Options:
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134878 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... @ A0 & U 99 & BR & WA ol fha o Il ol

Continuous wave Radar cannot be used for measuring

a) LU Velocity

b) SR 3Mgfi/Doppler frequency
¢) gmdl/Altitude

d) WMH/Range

Options :
1.a
2.b
3.cC
4.d

Question Number : 23 Question Id : 7715134878 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

....... & O & U 9ad &9 B8R &1 WA el bl o1 9ol ol

Continuous wave Radar cannot be used for measuring

a) a7/ Velocity

b) EIwR 3Mgfi/Doppler frequency
¢)  dTdl/Altitude

d) WH/Range

Options :
1.a
2.b
3.cC
4.d

Question Number : 24 Question Id : 7715134879 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Correct Marks : 1 Wrong Marks : 0.33000001311302185
Upid H fRa €U ¥ 9T T o & @ Y T ue @ ... ®gl o gl

A material engineered to have a property that is rarely found in nature is called

a) fdarad/ Superconductor
b) Tel-Uanri/ Metamaterial
c) F1-grd/Nanomaterial
d) 3fEfam®/ Semiconductor

Options:
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134879 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T # fRg ®0 T U0 SFad ed & 9y U W G @ ... &8 96

A material engineered to have a property that is rarely found in nature is called

a) 3ffcraTcid; Superconductor
b) Tel-Ugni/ Metamaterial
¢) "HI-Uem/Nanomaterial
d) @/ Semiconductor

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134880 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T3 A 435K & W1 UH HRUG Yasie o1 30® ... . gl (T, B 290K AM)
Noise Factor of an RF amplifier with noise temperature 435K will be (consider T; as 290K)

(@) 15
(b) 25
(©) 167
() 267

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134880 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T3 a0 435K & 914 T 9RUG Fad 311w ... Gl (T, 31290K 7 F)
Noise Factor of an RF amplifier with noise temperature 435K will be (consider T; as 290K)

(@) L5
(b) 25
(c) 167
) 267

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal247

R WOl # Jw We Riaad g MR 9. L. (T B @ Sifed B

A high pulse repetition frequency (PRF) in a radar system will (indicate the false statement)

(a) VAT el @ @ ¥ f &% A ol gt
make the returned echoes easier to distinguish from noise
(b) T PACET F T TET A A S g
make target tracking easier with conical scanning
(c) W faled § B o 7+ g
have no effect on range resolution.
(d) fimdr W # gig gl

increase the maximum range

Options :
1.a
2.b
3.cC
4.d

Question Number : 26 Question Id : 7715134881 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R Wl § 39 We RGad 9 BT ... (T BYF 1 3ifdd HY)

A high pulse repetition frequency (PRF) in a radar system will (indicate the false statement)

(a) TP ol @l @ ¥ UG SR H e gt
make the returned echoes easier to distinguish from noise
(b) NPT PACET F WY T I A B
make target tracking easier with conical scanning
(c) W fivedt # @I o T g
have no effect on range resolution.

(d) fipam W ¥ gig gul

increase the maximum range
Options :
1.a
2.b
3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 27 Question Id : 7715134882 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tel-{en T wiE @ g

What is a pseudo random number generator?

(a) SUG MIRH F R TRfe Tome Bl G teikym
an algorithm that generates random numbers according to user activity
(b) T F FER TefEe Jensdt @i o t@iied
an algorithm that generates random numbers according to time
(c) TR W 31 Werd § ARfSE Yensl @ e e
an algorithm that generates random numbers with help of mathematical formula
(d) ST 3 Pt ToEd § RS Yeme o A e

an algorithm that generates random numbers with help of user input

Options:
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134882 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el-e0 = 9 @ g

What is a pseudo random number generator?

(a) ST TREY & R Tefd JEn Bl tiar UwiNgg
an algorithm that generates random numbers according to user activity
(b) W F IR TefSe dema @ o @i
an algorithm that generates random numbers according to time
(c) TR G P ewdl § AEfEE dEmel @ v Tanied
an algorithm that generates random numbers with help of mathematical formula
(d) I E P TeEd ¥ TRDE Jemed & iara e

an algorithm that generates random numbers with help of user input

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 28 Question Id : 7715134883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fe ifves A, TR o fou Swh e o R, @ ST <ed SSfRaR 9600Hz
21 TR §SfaWR &1 2400Hz 0F YeM & fou Afgeq aem ............. REEIRY

If BPSK modulation is used for transmission, the required minimum bandwidth is 9600Hz. To
reduce transmission bandwidth to 2400Hz, the modulation scheme to be adopted should be

a) &ADcH bal [dRMH $oligd/Quadrature phase shift keying

b) IdH fARIT Puilg/Minimum shift keying

) 16-3MURT §FbeH WA/ 16-ary quadrature amplitude modulation
d) 8-3MuR diuwd/s-ary PSK

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134883 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fe difves A, TR & fou S e o R, @ ST <en SSfRaR 9600Hz
gl TORU dSfd%R &l 2400Hz 0 9eH & fow Alged dloHl ............. G

If BPSK modulation is used for transmission, the required minimum bandwidth is 9600Hz. To
reduce transmission bandwidth to 2400Hz, the modulation scheme to be adopted should be

a) &AdcH bal [ $oligd/Quadrature phase shift keying
b) AdH AT Huilg/Minimum shift keying

) 16-3MuRT §FbeH HAMIAHHd/ 16-ary quadrature amplitude modulation
d) 8-3MeR Uiuwd/8-ary PSK

Options :
1.a
2.b
3.C
4.d

Question Number : 29 Question Id : 7715134884 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
T STEaTaca B, T ¥ &1 Hed ONA, T6dl ... ... & T 9gt ol

The depth of penetration of a wave in a lossy dielectric increases with increasing

(a) TTeEl/ Wavelength

(b) g/ Conductivity
(c) R/ Permeability
(d)

d) faggaelier/ Permittivity

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134884 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR ST B, T 01 1 Mot R, W6l ... R K (]

The depth of penetration of a wave in a lossy dielectric increases with increasing

(a) TTeH/ Wavelength

(b) =ra@ar/ Conductivity
(c) g/ Permeability
(d)

d) faggagiicd/ Permittivity

Options :
1.a
2.b
3.cC
4.d

Question Number : 30 Question Id : 7715134885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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g T ¥ 3aPd P W U ol g YRU-ad &1 Haw Ui 100 9 & q1 Gl
OOy o Sfddd B W 64 M| A 3 el uiErer ... gl

Input impedance of a loss less transmission line is 100 ohms when terminated in short circuit
and 64 ohm when terminated in an open circuit. The characteristic impedance of the line is:

(a) 80 M/ohms
(b) 164 3fiH/ohms
(¢) 36 M/ohms
(d) 64 HWohms
Options:

1.a

2.b

3.c

4.d

Question Number : 30 Question Id : 7715134885 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 0§ ddd S W T g 8H GO S HaZ Fidarn 100 69 § U1 gal
URTY 7 3ddd FH W 64 A TH &1 Acais widamer .. ... d

Input impedance of a loss less transmission line is 100 ohms when terminated in short circuit
and 64 ohm when terminated in an open circuit. The characteristic impedance of the line is:

a) 80 3Mohms
b) 164 #fiW/ohms
) 36 dW/ohms
d) 64 3H/ohms

Options :
1.a
2.b
3.C
4.d

Question Number : 31 Question Id : 7715134886 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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R VSWR 3%, d Wi Uid @I UREW . .. .. g
If VSWR is 3 then magnitude of the reflection coefficient will be

Question Number : 31 Question Id : 7715134886 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WFRVSWR 33, @ WadT e & oRAm ... .. Gl
If VSWR is 3 then magnitude of the reflection coefficient will be

a) 025
b) 033

(
(
(¢
(d
Options :
1.a
2.b
3.C

4.d

Question Number : 32 Question Id : 7715134887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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dar Jfiefid e (PLL) @1 et g L R R o B
The pull-in time of a Phase Locked Loop (PLL) depends on

(a) UR® ®enm 91 & bl & dg DI SMGRI
Initial phase and frequency difference between two signals
(b)  ¥HY U qfsf/Overall loop gain
(c) U flhe¥ 3THA&UH/ Loop filter characteristics
(d) @i SftafEdsAll of the mentioned

Options:
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134887 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dal Afiefid T (PLL) &1 Afde g ... R fR Pl 2
The pull-in time of a Phase Locked Loop (PLL) depends on

(a) URMD SO 9Ul & Yol & did B MR
Initial phase and frequency difference between two signals
(b) WY U Gfsf/Overall loop gain
(c) U flheed 3ATHA&UH/Loop filter characteristics
(d) i SftafEdsAll of the mentioned

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134888 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T HY Wgd e @ 98 | 3p AR & IW &1, 76 Qiom™ Y W Tldd T, T
1300 Wm? g1 ¥R g9 T8 Wa ¥ M {6 g0 e &1 W0, 16 W il T
T P e Y § O g, ol uid faggd & b RO e &1 g el

On a clear day, with the sun directly overhead, the received power density from sunlight is
about 1300 W/m?. If we make the simplifying assumption that this power is transmitted via a
single frequency plane wave, find the resulting amplitude of the incident electric field.

a) 990 V/m
b) 1990 V/im
¢) 390 V/im
d) 590 V/m

Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134888 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T WY 50 o7 @ 99 [ oF RR & IR g, 76 Tar ¥ Ue Tidd Fed, T

1300 Wm? §1 R gH 98 Wa A T fé 39 e & W0, 16 Wha afy S
T B AEE Y F g, ol uiod fagga & & URUH o &1 U ol

On a clear day, with the sun directly overhead, the received power density from sunlight is
about 1300 W/mZ. If we make the simplifying assumption that this power is transmitted via a
single frequency plane wave, find the resulting amplitude of the incident electric field.

a) 990 V/m
b) 1990 V/m
¢) 390 V/m
d) 590 V/m

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134889 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

ST B URIYS, e Ul YA & Y 6 R0, fHz W 3G 8l R T 9w
aMl @1 anft g 6w W, o R el angh

A circuit with a resistor, inductor and capacitor in series is resonant at fy Hz. If all the
component values are now doubled, the new resonant frequency is

(a 2f
(b) f

(c) fu2
(d) fo/4

Options:
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 34 Question Id : 7715134889 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

sgar o Ufckls®, NG Ul 9uia & 9y @ WY, fHz R 3G 5l ¥R T 9ed
I ) 22 A e A G R

A circuit with a resistor, inductor and capacitor in series is resonant at fy Hz. If all the
component values are now doubled, the new resonant frequency is

(a) 2fp
(b) fo

(c) fu2
(d) fy4

Options :
1.a
2.b
3.cC
4.d

Question Number : 35 Question Id : 7715134890 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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49 39 B! Udd Waedt i, ... /The power spectral density of white noise

(a) 9N @G & EY H deadl o/varies as square root of frequency
(b) 39 WA & ¥ H gl 3/varies as inverse of frequency
(c) MgRi @ & ®U H §ead! g/ varies as square of frequency

(d) MR & WY &R B/is constant with frequency

Options :

1.a

2.b

3.C

4.d

Question Number : 35 Question Id : 7715134890 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

47 @ o Wad Waed Tq,

..... /The power spectral density of white noise

(a) 9N @Hd & EY H deadl o/varies as square root of frequency
(b) 39 WM & ¥ H &l 3/ varies as inverse of frequency

(c) MgRi @ & ®U H §ead! 5/ varies as square of frequency
(d) Mg & WY &R B/is constant with frequency

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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T 30 dB Ty 741 10 dB WP & W T URAKD Yad® (DA), 50 dBTilel T 40 dB WGid &
I i YaUd Pl el g1 DA B Ho¥ W Fad Wie 31 G )

A Driver Amplifier (DA) with gain 30 dB and Noise Figure; 10 dB drives a High Power Amplifier
of gain 50 dB and Noise Figure; 40 dB. Find the net Noise Figure at the input of DA.

2) 50dB
b) 30dB

) 13dB
d 25dB

Options:
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134891 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 30 dB @il 941 10 dBW0® & 9Y & UNAId Wasd (DA), 50 dB e a1 40 dB G@id &
3@ UMt V4@ @ 90 ol DA @ FdY R 790 W &1 T aml

A Driver Amplifier (DA) with gain 30 dB and Noise Figure: 10 dB drives a High Power Amplifier
of gain 50 dB and Noise Figure: 40 dB. Find the net Noise Figure at the input of DA.

2)  S0dB
b)  30dB
13dB
25dB

Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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U@ @ &7 & RC TRy § 4Ra 6w o g1,

A square wave is fed to an RC circuit. Then,

() R & UR dicedl 3Md & ARC & UR 3@d T2 g
Voltage across R is square and across C is not square
(b) C& UR dicedl 0T § ¥RR & UR 4T Tol gl
Voltage across C is square and across R is not square
(¢) R RC,aH & UR dieedl 3G §
Voltage across both R and C are square

(d) R IRC,EH & TR dieedr mad T &

Voltage across both R and C are not square

Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134892 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 @ 7 & RC UR9Y F 4Rq four S g1, .....

A square wave is fed to an RC circuit. Then,

(a) R @ UR dieeal 3d § IRC & UR AT ol &l
Voltage across R is square and across C is not square
(b) C& UR dicedl 3M@d § SRR & UR AT Tl gl
Voltage across C is square and across R is not square
(c) R 3RC,aH & UR diewd Md §
Voltage across both R and C are square

(d) R IRC,3H & UR dieedl md T 8

Voltage across both R and C are not square

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134893 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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TEGR T & W U e SR G e il

For microwave propagation through microstrip lines, there will be

() fdfomU, YR-RT W Wdegd g
radiation, eddy current and dielectric losses

(b) Widegd, &l U1 Mg g
dielectric, ohmic and hysteresis losses.

(c) Wideqd, 3@ qur fafdr gl
dielectric, ohmic and radiation losses

(d) o, T TU IR-4R g

ohmic, hysteresis and eddy current losses

Options:
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134893 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U TR & WY U Qe SR & fu L gl

For microwave propagation through microstrip lines, there will be

() fafU, YR-4RT W Wded e
radiation, eddy current and dielectric losses

(b) Wideqd, i Tur AW T
dielectric, ohmic and hysteresis losses.

(c) Wideqd, e qu fafeur gl
dielectric, ohmic and radiation losses

(d) e, W U JR-4R g

ohmic, hysteresis and eddy current losses

Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U6 Alalgd gwde, G0 TU gl R 8 wdlleRie U ol Sema 9 SR T 31 3R Yord &1 $aR
TR 3| R AR TEIa, YR I U1 O a3l UHaHH T8d §UHaR 0P &I e g
PIQAIG G, U et H @ yfoar g7

A mobile handset transmits signal towards base station with an omnidirectional antenna from
a given distance R. If the mobile operator doubles the operating frequency of the
communication link, while keeping the base station antenna gain same; what is the impact on
receive power?

a) IR &4 gil/Reduce by factor of 4
b) @ Tn@EAgA /Reduce by a factor of 2

¢) & T als g/ Increase by factor of 2
d) IRl 3/ Increase by factor of 4

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134894 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Hlalgd gwde, G0 TU gl R 8 wdlleie U ol ema & SR T 31 3R Yord &1 §aRy
TR 3| R A0 TEIas, YR I U1 01 dis) 31 UHaHH T8d §U AR id &1 e o
PIQAIG G, T U et A @ yfer g7

A mobile handset transmits signal towards base station with an omnidirectional antenna from
a given distance R. If the mobile operator doubles the operating frequency of the
communication link, while keeping the base station antenna gain same; what is the impact on
receive power?

a) IR &4 gil/Reduce by factor of 4
b) @ Tn@EAgA /Reduce by a factor of 2

¢) & T als g/ Increase by factor of 2
d) IRl 3/ Increase by factor of 4

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134895 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

oo o fou foffed ou 3 @ 98 76 &

Which of the following statements is not correct for convolution?

(2) T 990 BeH &1 T Tod & Yaod 00 999 Bed 8

The convolution of an odd function with an even function is an odd function
(b) & favA e P TaeH TH TH B §

The convolution of two odd functions is an even function
(c) & W ol &1 9909 U@ U9 o &

The convolution of two even functions is an even function

(d) & ¥4 el P GaeH e fun Bod @

The convolution of two odd functions is an odd function

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 40 Question Id : 7715134895 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yo & fou Fefifed ou § oo 9 71 &

Which of the following statements is not correct for convolution?

() T 399 Bo &1 99 Bod ¥ Gaod o oW Bad §

The convolution of an odd function with an even function is an odd function
(b) &l fa¥H Wl &1 ¥aed @ W9 Bad o

The convolution of two odd functions is an even function
(c) & W Gl &1 Yded Uh 99 B ©

The convolution of two even functions is an even function

(d) & f9A Borl &1 Yaod TS O Bed &

The convolution of two odd functions is an odd function

Options :
1.a
2.b
3.cC
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 41 Question Id : 7715134896 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R T PR W@E Tead 8, o We WY FA & U F&w o L H

If the target cross section is changing, the best system for accurate tracking is
(a) 9 fag/lobe switching

(b) 3PP 3G/ sequential lobbing

(c) WiHd PHAIEM/ conical scanning

(d) m:ﬁﬂfﬂ/mnnopulse

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134896 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R T8 e e dead! 5, d GSD @ ¥ & fau Gdid WOl L. H

If the target cross section is changing, the best system for accurate tracking is
(a) e fagd/lobe switching

(b) 3PP 3G/ sequential lobbing

(c) idhd HHAIET/conical scanning

(d) lﬂ:ﬁﬂ?ﬂ/monopulse

Options :
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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GE i R T L 4 §/In tunnel diode, the Fermi level lies

(a) U-VOR @ GOudd 45 & ol Ul W-UIR & Heded & 9 98 & I
Inside valence band of p-type and inside conduction band of n-type semiconductors
(b) Sl 8 R # T WIS & I & I §5 F B
In the energy band gap but closer to conduction band of n-type semiconductors
(c) ol 98 AT # Wi N-T@R & fTcd @ Gavddl 98 & ag

In the energy gap but closer to valence band of p-type semiconductors

(d) Joli 48 IR ¥ oo T-VFR &1 T 98 & N Ul W-IR & s

& I%H d5 ¥ A
In the energy gap but above valence band of p-type and below conduction band of n-
type semiconductors

Options:

1.a

2.b

3.c

4.d

Question Number : 42 Question Id : 7715134897 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tq S ¥ o W ... 4 §/In tunnel diode, the Fermi level lies

(a) U-VOR @ G0udd 45 & Sl Ul W-UPR & Heded & died 98 & I
Inside valence band of p-type and inside conduction band of n-type semiconductors
(b) Sl 5 R # ofdT WIGR & AP & I dF F B
In the energy band gap but closer to conduction band of n-type semiconductors
(c) vl §8 WA H died N-UFR & s o1 Goddl 98 & g

In the energy gap but closer to valence band of p-type semiconductors

(d) Joi 48 IR ¥ oo T-UFR &1 Tood 68 & N Ul W-IR & s

& I%H d5 ¥ A
In the energy gap but above valence band of p-type and below conduction band of n-
type semiconductors

Options :

1.a

2.b

3.cC
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4.d

Question Number : 43 Question Id : 7715134898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fovEw &1 w1 Fm, L. @ W gl ® o1 & 3l

The Kirchoff’s current law works on the principle of conservation of

(a) &ﬂa‘xfl/(iharge

(b)  SWi/Energy

(c) difdd/Power

(d) EERj?R-I i/ All of the above
Options :

1.a

2.b

3.C

4.d

Question Number : 43 Question Id : 7715134898 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fovEw &1 w1 Fm, L. @ W gl R o1 & 3l

The Kirchoff’s current law works on the principle of conservation of

(a) QY Charge

(b)  SWi/Energy

(c) difdd/Power

(d) EERj?R-I i/ All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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el wIEE ... frgid ® ®1d $¥d g/Reflex Klystron works on the principle of

a) @M HigeH/Amplitude Modulation
)

(

(b)  3gRI HIgCH, Frequency Modulation
(c) al HigeH/Pulse Modulation

(d) 7 HigeH/ Velocity Modulation
Options :

1.a

2.b

3.C

4.d

Question Number : 44 Question Id : 7715134899 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

yiadl wEEE ... frgid ® @1 &l g/Reflex Klystron works on the principle of

a) UM HigeH/ Amplitude Modulation

[

(b) 39 HIgeH/Frequency Modulation
(c) & HigeH/Pulse Modulation

(d) 9 HigeH/ Velocity Modulation

Options :

)
)

1.a
2.b
3.cC
4.d

Question Number : 45 Question Id : 7715134900 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T SR TRl 31 300K R Wid 10dB § MR ¢8R 2.5MHz| 39% &R 1@ 9
fou srarer dgifve TIam e o &

A Radar receiver has a noise figure of 10dB at 300K and a bandwidth of 2.5MHz. What is
the theoretical minimum power it can receive and process?

(a) 345x10DW
(b) 1.38x10BW
(c) 7.5x10-DW
(d) 93.15x 101w

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 45 Question Id : 7715134900 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

T% Y8R gl & 300K W @@ 10dB § IR ssidwR 2.5MHz| 39¢ §RI U 9 yad

fou srarer dgifve TIam e o &

A Radar receiver has a noise figure of 10dB at 300K and a bandwidth of 2.5MHz. What is

the theoretical minimum power it can receive and process?

(a) 345x10DW
(b) 1.38x10BW
(c) 7.5x10-DW

(d) 93.15x 101w
Options:

1.a

2.b

3.C

4.d

Question Number : 46 Question Id : 7715134901 Question Type
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U3 Qe oy H &1 U U ... & w0 ° T H

A waveguide section in a microwave circuit will act as

(a) 9 TR@ fBeeX/low pass filter
(b) &% UR® flheeR/band pass filter
(c) Oo U@ flecd/high pass filter
(d) d8 9uid fee/band stop filter

Options :
1.a
2.b
3.c
4.d

: MCQ Option Shuffling : No
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Question Number : 46 Question Id : 7715134901 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U3 QAo oy | &1 TN URwE ... & w0 H o Bl

A waveguide section in a microwave circuit will act as

(a) 9 RS fhec¥/low pass filter
(b) d§S URG fee/band pass filter
(c) T UR® fheci/high pass filter
(d) 48 ol fihect/band stop filter

Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134902 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G- Yead 0% Wad® g 6dB 81 AH o [ i O Tiew W 8, @ dead
&t &7 g @1 T |

(Habd: log (0.25)="0.602, log (0.6) =70.222, log (0.75) =70.125, log (0.8) =0.097)

A two-port network has input return loss of 6dB. Find the mismatch loss of the network,
assuming output port is perfectly matched.

a) 2.22dB
b) 1.25dB
c) 0.97 dB
d 6dB

Options :

1.a

2.b

3.c

4.d

Question Number : 47 Question Id : 7715134902 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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&-U¢ Jead § 10U Wade g 6dB 31 A o 6 i Oé g @t B, @ dead
t qHel g1 BT O

(aba: log (0.25) =70.602, log (0.6) =70.222, log (0.75) ="0.125, log (0.8) =70.097)

A two-port network has input return loss of 6dB. Find the mismatch loss of the network,
assuming output port is perfectly matched.

a) 222dB
b) 125dB
c) 097dB
d 6dB

Options:

1.a

2.b

3.C

4.d

Question Number : 48 Question Id : 7715134903 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

I feam T twa wRwse Ty TME-AET 90 5 3 dB I &1 R U o sl
yidaren 8, d 10 GHz @ Weled 4Rt | ZL, Z2 @ <1’ & §H @ T |

A single section coaxial branch-line coupler shown below has 3 dB coupling. If the
characteristic impedance of the ports is 50 Q, then find the values of Z1, Z2 and ‘I’ at the
operating frequency of 10 GHz.

a

L =

d

Options :
1.a
2.b
3.c
4.d

——

22

Z1

Z1

22

) Z1=3535Q,72=50Q,1=7.5 mm
) Z1=25Q,72=50Q, =7.5 mm
) Z1=509Q,72=3535Q, =15 mm
) Z1=500,72=25Q, 1=7.5 mm

GET IT ON
Google Play

Question Number : 48 Question Id : 7715134903 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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7

I feam T twa wRwse Ty TME-AET 90 5 3 dB I &1 R U o sl
yidaren 8, d 10 GHz @ Weled 4Rt | ZL, Z2 @ <1’ & §H @ T |

A single section coaxial branch-line coupler shown below has 3 dB coupling. If the
characteristic impedance of the ports is 50 Q, then find the values of Z1, Z2 and ‘I’ at the
operating frequency of 10 GHz.

a

L =

d

Options :
1.a
2.b
3.c
4.d

——

22

Z1

Z1

22

) Z1=3535Q,72=50Q,1=7.5 mm
) Z1=25Q,72=50Q, =7.5 mm
) Z1=509Q,72=3535Q, =15 mm
) Z1=500,72=25Q, 1=7.5 mm

GET IT ON
Google Play

Question Number : 49 Question Id : 7715134904 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I feam 0 0@ 3-ufvesd FE-TR® anferen d Sfad g | rad/s & WY gr=gi=1 mho, g;=
o=l 0 H, g,=2.0 3139 aNfeyey & 3w amgf 2 GHz au1 50 Q 9t 417 3 Wifka wfoaren & ary
T Wrifie Fg-amgf firees A kafda &%)

A 3-section low-pass prototype shown below has g=g,=1 mho, g;= g=1.0 H, g=2.0 F with
cut-off frequency 1 rad/s. Transform this prototype to a practical low-pass filter with cut-off
frequency 2 GHz and source and load impedance of 50 Q.

i i
of g3 fﬂEﬁ" W
do =% g 500 =G 50
Low-pass | Low-pass filter
a) LeLg=3083nH,  Cp=3.977pF
b) LsLs=3.977nH, C=3.183pF
¢) LeLs=0.07950H, Cp=159.1pF
d)  LeLs=159.1nH, C=0.0795pF
Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134904 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I feam 0 0@ 3-ufvesd FE-TR® anferen d Sfad g | rad/s & WY gr=gi=1 mho, g;=
o=l 0 H, g,=2.0 3139 aNfeyey & 3w amgf 2 GHz au1 50 Q 9t 417 3 Wifka wfoaren & ary
T Wrifie Fg-amgf firees A kafda &%)

A 3-section low-pass prototype shown below has g=g,=1 mho, g;= g=1.0 H, g=2.0 F with
cut-off frequency 1 rad/s. Transform this prototype to a practical low-pass filter with cut-off
frequency 2 GHz and source and load impedance of 50 Q.

i i
of g3 fﬂEﬁ" W
do =% g 500 =G 50
Low-pass | Low-pass filter
a) LeLg=3083nH,  Cp=3.977pF
b) LsLs=3.977nH, C=3.183pF
¢) LeLs=0.07950H, Cp=159.1pF
d)  LeLs=159.1nH, C=0.0795pF
Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134905 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 3= Woa asd (HPA), Frimafd, Pout=50 dBm W Tamed @l €1 3R Jila Bife SRte
fig OIP3=62.5 dBm g, @ dBc & qdig Bifc feRI-AIeH ITG TR &1 Tl e |

A High Power Amplifier (HPA) operates at an output power, Pout=50 dBm. If the 3t order
intercept point, OIP3=62.5 dBm, then find the 3% order Inter-modulation product level in dBc.

a) 12.5 dBc
b) 25 dBc
¢) -12.5dBc
d)-25 dBc

Options:
1.a
2.b
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3.C
4.d

Question Number : 50 Question Id : 7715134905 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 9 Yiad wad® (HPA), M efd, Pout=50 dBm W TaTeH @dl g1 7R T Bife 3RIeH

fdg OIP3=62.5 dBm, @ dBc # T e SIeRI-AIgeH IaTG TR 1 0l e

A High Power Amplifier (HPA) operates at an output power, Pout=50 dBm. If the 3% order

intercept point, OIP3=62.5 dBm, then find the 3% order Inter-modulation product level in dBc.

a) 12.5 dBc
b) 25dBc
¢) -12.5dBc
d) -25 dBe

Options :
1.a
2.b
3.cC
4.d

Question Number : 51 Question Id : 7715134906 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I fewm T Fifdre Tifed #, R L=1mH Y WareH aMgfd | MHz 8, o 4Rl CLaul
C2 @ Udl @0 W TR0 U 0.25 31

In a Colpitt’s Oscillator shown below, if L=1mH and operating frequency is | MHz, find the
capacitances C1 and C2 when feedback fraction is 0.25.

otVe
§R1

| ¢ T,
S® % B L

RF choke

TR

Va ut
0

a
b

C1=126.5 pF, C=31.625 pF
C1=31.625 pF, C=126.5 pF
C1=25.3 pF, C;=126.5 pF
C1=31.625 pF, C=25.3 pF

L]

)
)
)
d)
Options :
1.a

2.b

3.cC
4.d

Question Number : 51 Question Id : 7715134906 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Adda

247

I fewm T Fifdre Tifed #, R L=1mH Y WareH aMgfd | MHz 8, o 4Rl CLaul

C2 @ Udl @0 W TR0 U 0.25 31

In a Colpitt’s Oscillator shown below, if L=1mH and operating frequency is | MHz, find the

capacitances C1 and C2 when feedback fraction is 0.25.
otV

ém

TR

RF choke

Va ut
0

e
3

I
<

a
b

L]

)
)
)
d)
Options
1.a
2.b
3.c

4.d

C1=126.5 pF, C=31.625 pF
C1=31.625 pF, C=126.5 pF
C1=25.3 pF, C;=126.5 pF
C1=31.625 pF, C=25.3 pF

GET IT ON
Google Play

Question Number : 52 Question Id : 7715134907 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ R el H, FEiiied § (UEeES 39 @1 9aetUl S48

Which of the following is an example of multiplicative noise in a communication system?

L] =]
Ea8 =Z &

Options
1.a

dIdig Td/Thermal noise

dHSa 9/ Atmospheric noise

@l ¥d/Phase noise
e {d/Shot noise
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2.b
3.C
4.d

Question Number : 52 Question Id : 7715134907 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U YR Wil H, Fufiied ¥ e W9 @ 38Rk SH-41 8

Which of the following is an example of multiplicative noise in a communication system?

dig 39/ Thermal noise
IS ¥d/Atmospheric noise
@l ¥d/Phase noise

gie Td/Shot noise

L] =~
[ =

Options :
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134908 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tt T M A U U N @ WY Wfd@ 99 § 0@ MIMO TG @ o &,
...... ¥ ufad 3

The channel capacity of a MIMO system in a static channel with ‘M’ receive antennas & ‘N’
transmit antennas is proportional to

) Min (M, N)
by M+N
) Max (M, N)
d) M*N

Options :
1.a
2.b
3.C
4.d
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Question Number : 53 Question Id : 7715134908 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tl Tl M 1 U0 T N & WY @ o # 06 MIMO WUl @1 o1l &,
...... ¥ YIS 2l
The channel capacity of a MIMO system in a static channel with ‘M’ receive antennas & ‘N’
transmit antennas is proportional to

a) Min(M,N)
) M+N
) Max (M, N)
) M*N

o o

d

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ TR Jomeh & 9vw o e 3 A A Yee Afow qun e 93w 1 yen Wi
TR (S e e o ST A W S o) B e E .

In a communication system, the transmit & receive antenna have linear, horizontal & right
hand circular polarization respectively. Compared to a polarization matched condition (i.e
same polarization scheme at transmit & receive antenna)

a) VI qfad e # e it ¢/Received power reduces by half
b) U@ wfad §HH el 8/Received power remains same

C)  @f N W ! gl 5/No power is received
d)  UakAA E4a T ¢/Not possible to predict

Options:
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134909 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T TR JOTCH & O g T B A e Ao au GRimad g9-4aw 31 yau i
TRIRTCt (T e T T Ul W G g ) Sl qe A L

In a communication system, the transmit & receive antenna have linear, horizontal & right
hand circular polarization respectively. Compared to a polarization matched condition (1.
same polarization scheme at transmit & receive antenna)

a) VT qfad o 7 e I ¢/Received power reduces by half
b)  Ur@ wfad §HH el 3/Received power remains same

¢) I idd e Tl gl §/No power is received

d)  JEH §4a T81 8/ Not possible to predict

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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feg mu fom 7 ffefed & U= $ed & aR H R @

Consider following two antenna setup in free space.

HEHaUPd
correlator

s

Tehay®, Ul R W Gobdl @ did @1 fdcld AGdl g1 SRR At U AFFH
P00 D ... D EU Y FAHG HA o Ihal gl
The correlator measures the delay between the signals received by the antennas. For a time-
difference Af; the angle of arrival 8 can be estimated as

a) tan
b) S
c) tan
d) sin

Options:

1.a

2.b

3.¢C

4.d

GET IT ON
Google Play

Question Number : 55 Question Id : 7715134910 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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feg mu fom 7 ffefed & U= $ed & aR H R @

Consider following two antenna setup in free space.

HEHaUPd
correlator

s

Tehay®, Ul R W Gobdl @ did @1 fdcld AGdl g1 SRR At U AFFH
P00 D ... D EU Y FAHG HA o Ihal gl
The correlator measures the delay between the signals received by the antennas. For a time-
difference Af; the angle of arrival 8 can be estimated as

a) tan
b) S
c) tan
d) sin

Options:

1.a

2.b

3.¢C

4.d

GET IT ON
Google Play

Question Number : 56 Question Id : 7715134911 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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EART MEMS &l # faggd Wadd W & & v iy wufie feaid &1 wm fedr

ol 87

What is the primary mechanism used in microwave MEMS switches to achieve electrical

actuation?

a) FRR-f9gYd/Electrostatic
) fdgqd-d9@1U/Electromagnetic

¢) G18-fdqyd, Piezoelectric
d) Biel fzaid/ Magneto strictive

=

Options:
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 56 Question Id : 7715134911 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

e MEMS fedl # faggd Waad U & o o fog wufe Tl @ wa foon

9l 87

What is the primary mechanism used in microwave MEMS switches to achieve electrical

actuation?

a) FRR-f9qYd/Electrostatic
) fdqgd-J9@M8/ Electromagnetic

¢) G-fdggd/ Piezoelectric
d) B9l f&adia,/ Magneto strictive

=

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134912 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T cafum faa A, ol @ e el @ gt o A o o e W W e e au
TGHAH TR 31 31

In the figure shown below, what will be the overall gain of the system, considering all the
connecting transmission lines are ideal and have equal length.

ft4/pin T3¢ /Pout
) [—nAmpl N
e/ Gain = G :
, [S] p=10°
¥ HRY Termination 3 MR Termination
>—y 4
e/ Gain = 6
0=10°
0 -j -1 0
g L 0 0-1
EBTSaﬂTﬁa,S/hereSpammeter,S—E 4004
0 -1 -5 0
a0
b. G
¢. 26
d. G
Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134912 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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T cafum faa A, ol @ e el @ gt o A o o e W W e e au

3R] YR/ Tarmination

TR 1Ak 1 ¢

In the figure shown below, what will be the overall gain of the system, considering all the

connecting transmission lines are ideal and have equal length.

fi1/pin

§ 1
WSaﬂTﬁa,S/hereSpammeter,S—ﬂ 4004

a0
b. G
¢. 26
d. G

Options:

1.a

2.b

3.c

4.d

—MAmp

—Ampl

fal/Gain = 6
0=10"

e/ Gain =G

p=10°

e,/ Pout
2 ——

3R] 4R/ Termination

o .

GET IT ON
Google Play

Question Number : 58 Question Id : 7715134913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafifad U sl § 59 5G o 3w B3 o WRddd fhar T g2

Which of the following new frequency is proposed for use in 5G

a) 1800 MHz
b) 2500 MHz
c) 12000 MHz
d) 28000 MHz
Options :

1.a
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2.b
3.C
4.d

Question Number : 58 Question Id : 7715134913 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafeiEd U anghml 4 69 5G | IWN B g Wdiidd fhar T g2

Which of the following new frequency is proposed for use in 5G

a) 1800 MHz
b) 2500 MHz
¢) 12000 MHz
d) 28000 MHz

Options :
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715134914 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

900 MHz R U% HRUG ¥ Udhd @I Ud fgd o 80 MHz &I UG 3 o 3fdl-
URafdd b S 31 & §va vidise anghEi L. ... gl

An RF input signal at 900 MHz is down-converted in a mixer to an IF frequency of 80 MHz.
The two possible image frequencies are

a) (1060 MHz, 740 MHz)
b) (2120 MHz, 740 MHz)
¢) (1060 MHz, 1480 MHz)
d) (980 MHz, 820 MHz)

Options :
1.a
2.b
3.c
4.d
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Question Number : 59 Question Id : 7715134914 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

900 MHz | U& IRUE Fd9 Tod @l Uh Med o 80 MHz @1 RUG 3ght # 34l
URdfdd fha1 ST g1 @ YHG Wiofde smgiEi ... gl

An RF input signal at 900 MHz is down-converted in a mixer to an IF frequency of 80 MHz.
The two possible image frequencies are

a) (1060 MHz, 740 MHz)
b) (2120 MHz, 740 MHz)
¢) (1060 MHz, 1480 MHz)
d) (980 MHz, 820 MHz)

Options:
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aIe & & U1y U UhUH Tobd o1 U Y o UR o1 oIl & 71 301 Mgl 1 Up-Tefers |
YeTT oI & | e o R e . . ... 8l

An FM signal with deviation d is passed through a mixer and its frequency is reduced to one-third.
The deviation at the mixer output is

a

=
LS T

0

)
)
) 6/3
)

L]
(]

d) 94 indeterminate

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134915 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal27

faeM & o T e U Wand I U 140 o UR T STl & odl 0! A9 ] Up-Tolers 4

Y oI 5| g i Rfdae ... B

An FM signal with deviation 8 is passed through a mixer and its frequency is reduced to one-third.
The deviation at the mixer output is

a) 0
) 36
) 6/3
d) 3MTd/indeterminate

L = o

Options :
1.a
2.b
3.c
4.d

Aptitude Test

Partl


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 61 Question Id : 7715134916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Feffes foF fow o 9 w6l &

To which group does the following figure belong?

1

:. Il
==
!

‘N
GroupA | x i n
PO E
Group B i . . : u . u
(a) A
(b) B

(c) a8 A 7 B /Neither Anor B
(d) 3Wad FHi/All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134916 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Feffes foF fow o 9 w6l &

To which group does the following figure belong?

-
Group A . . | . . .‘
Group B . . . . .‘
(a) A
(b) B

(c) a8 A 7 B /Neither Anor B
(d) SWad FHi/All of the above

Options:
1.a
2.b
3.¢
4.d

Question Number : 62 Question Id : 7715134917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

oH-91 foa fodt off qu § 81 s

Which figure belongs in neither group?

Group 1 Group 2

oy B
it lm

(a)
.

(b)
[

L

(c)
%
(d)

o)
Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134917 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

oH-91 foa fodt off qu § 81 s

Which figure belongs in neither group?

Group 1 Group 2

oy B
it lm

(a)
.

(b)
[

L

(c)
%
(d)

o)
Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U TH S BH H JENHE TEEE & T 0 BA W) RAE ¢ ol T8 W 9ol §
fr ouia o[, R ome! WieT § &1 Yun fiwd W @ gon ¥ % R 3
TR F B3 URGGT Tel g1 3, I 39T H90E Tg 5 © @ B 31 GHAI @ AW
TR AT F g AT G o o8 F OUSRY Y D AR /A 8, SO
SE/eEd § P w Ry o i} o & @ TG, TR 0 @ U9 @ @ ®ER
I 1 ¥ I W 8l 39 R F et uldfem ot ghfe

You are working as an administrative assistant at a law firm and realize that the amount of office
supplies you need to order has increased over the last month. The workload has not changed, so
it seems as though someone might be taking supplies home with them. As you enter the storage
room to take inventory, you witness an intern placing two reams of printer paper, packs of legal

pads, and two staplers into their purse. How would you respond in this situation?

AU [ded &1 gae qul Ruie B4l {6 wiie Al o @ )
Call my supervisor and report that the intern is stealing.
& GHR QUGN @1 o [ 4w 08 PR o Bid & of sua difsdl smue
() Ud ﬁl{Set up a hidden camera so you can have video if this happens in the future.
79 Tl el IR T 9T D41 & i Fwien § Swm & fu gt
] Do not say anything and assume the supplies are to be used in the office.
o ¥ 7 fo gmfrl g o & fou & &1 W@ R

@ Ask the intern what the supplies are being used for
Options :
1.a
2.b
3.C

4.d

Question Number : 63 Question Id : 7715134918 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

U TH S BH H JENHE TEEE & T 0 BA W) RAE ¢ ol T8 W 9ol §
fr ouia o[, R ome! WieT § &1 Yun fiwd W @ gon ¥ % R 3
TR F B3 URGGT Tel g1 3, I 39T H90E Tg 5 © @ B 31 GHAI @ AW
TR AT F g AT G o o8 F OUSRY Y D AR /A 8, SO
SE/eEd § P w Ry o i} o & @ TG, TR 0 @ U9 @ @ ®ER
I 1 ¥ I W 8l 39 R F et uldfem ot ghfe

You are working as an administrative assistant at a law firm and realize that the amount of office
supplies you need to order has increased over the last month. The workload has not changed, so
it seems as though someone might be taking supplies home with them. As you enter the storage
room to take inventory, you witness an intern placing two reams of printer paper, packs of legal

pads, and two staplers into their purse. How would you respond in this situation?

AU [ded &1 gae qul Ruie B4l {6 wiie Al o @ )
Call my supervisor and report that the intern is stealing.
& GHR QUGN @1 o [ 4w 08 PR o Bid & of sua difsdl smue
() Ud ﬁl{Set up a hidden camera so you can have video if this happens in the future.
79 Tl el IR T 9T D41 & i Fwien § Swm & fu gt
] Do not say anything and assume the supplies are to be used in the office.
o ¥ 7 fo gmfrl g o & fou & &1 W@ R

@ Ask the intern what the supplies are being used for
Options :
1.a
2.b
3.C

4.d

Question Number : 64 Question Id : 7715134919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

frofofea eat & ¥ U weg culpasLe &1 fawdarf gl 9@ Tt &1 79 &

Which one of the following options means the opposite of the word; CULPABLE

(a) Defendable
(b) Blameless
(c) Careless

(d) Irresponsible

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

4.d

Question Number : 64 Question Id : 7715134919 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

frofofea eat & ¥ U weg culpasLe &1 fawdarf gl 9@ Tt &1 79 &

Which one of the following options means the opposite of the word; CULPABLE

(a) Defendable
(b) Blameless
(c) Careless

(d) Irresponsible

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Y fBH @1 gPH A T BRW ¢, O G WGP D Y B I ¢l &l § oy
o AR §1 ol T P R R P T g gor § Wien € au oW e
Bl AU HeG BX G 5, oD U Tedl 3 ddl Bar ol ol 39 RuR A ol wiake
G

You are a new cashier at a grocery store when a customer hands you a stack of coupons that are
unfamiliar to you. You are not sure if the coupons can be accepted at your store, and you have a
long line of customers behind the customer you are helping. How would you respond in this

situation?

(a) TE® Bl g & GFH PUH WHR T B gl
Tell the customer that the store does not accept the coupons.

(b) JIEd B ol fh AW 0 E 9 B & IR H PR § 9 99 @ Y UEUD
Bl g0 Tl Od d9 9% Aed P g W P [ Fg

Tell the customer you are new and unfamiliar with the coupons and ask them to be patient

while you call your manager.
() Ud ERI WIG 3 DU Bl Hifd 37 I B WA B
Scan the coupons like any other coupons you have used.

(d) TEE Bl Bg @ 7 30 SRR & UM I

Tell the customer they need to go to another cashier

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

2.b
3.C
4.d

Question Number : 65 Question Id : 7715134920 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

3 v &1 g@H A TR ¢, 99 09 Teo M0 g oud @i ¢ff o § fored
o T B et T g TR o 7 o gon § Wl § au N RS
B AT HGE I T &, 99D UiY TEH Bt aft AR it 31 3@ RS F muat vRfpw
1 g

You are a new cashier at a grocery store when a customer hands you a stack of coupons that are
unfamiliar to you. You are not sure if the coupons can be accepted at your store, and you have a
long line of customers behind the customer you are helping. How would you respond in this

situation?

(a) WD Bl qaN & GBH T WHR gl B ¢l
Tell the customer that the store does not accept the coupons.

(b) gD @ §al fd o0 AU § d U & G H AN § qUl 99 dB AU Ydvd
@l g0 ol o 99 db Ued Pl T W@ & foU del
Tell the customer you are new and unfamiliar with the coupans and ask them to be patient
while you call your manager.

() TP ERI WGH 3 GO Bl Hifd 37 ! B T B
Scan the coupons like any other coupons you have used.
(d) TS Bl B & 4 49 PR & U4 )
Tell the customer they need to go to another cashier
Options:
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

B # WG U@ Fafdaied WGl W U@ AU Y A 09 gR TeT ded §, 3
T WG W RS ol Wie 3 A Wie I @9 Rt 9k 4 o o fat @
M Il TRd 4, gl SUB GIH 25%FC ¢ Wl gl UiSl WX 916, W YD A §
fo Sl g wlied @& 59 & 9@l ¢, aff d ogd ¢ o 4 9 Bl W @ R @R
Uil 91ed € AR 9 oFTd B A9 | quifl, He fohl B 9HW § IS &l Ul
o Hidishar g

You are helping a young couple who are recently married and are looking to buy a new washer

and dryer. The couple found a set they like and want to take advantage of the Labor Day sale

where your store is offering 25% off. After a while, when you think the couple is ready to make

the purchase, they announce that they want to think about their decision and will return to the

store next week. However, the sale ends tomorrow. How would you respond?

(a)

(b)

(d)

51 i 1 e 0 B i e B B 7 ) S it e
25% @1 ge dll|

Tell the couple that you will still give them 25% next week even though the sale ends
tomorrow.

el sl fGan & fopt o0 oG 8 W & U SA@ T HH Sl
THH & U vieied da|

Remind the couple that the sale ends tomorrow and encourage them to make up their
mind quickly.

el @ U 9Hg oF & fu Uidiied ®ul, Sl foml da gud g &
N F Yfod T8 o4 ol 6 TR P5 ged A 5

Encourage the couple to take their time, but don't mention the sale ending tomorrow so

they won't feel pressured.

wig! f IaId 1o fol o YA g T § 7 UC B W B dl 39 foU 9%
U fowE 1S Gl

Explain to the couple that the sale ends tomorrow and offer my business card if they have
any questions.

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 66 Question Id : 7715134921 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

B # WG U@ Fafdaied WGl W U@ AU Y A 09 gR TeT ded §, 3
T WG W RS ol Wie 3 A Wie I @9 Rt 9k 4 o o fat @
M Il TRd 4, gl SUB GIH 25%FC ¢ Wl gl UiSl WX 916, W YD A §
fo Sl g wlied @& 59 & 9@l ¢, aff d ogd ¢ o 4 9 Bl W @ R @R
Uil 91ed € AR 9 oFTd B A9 | quifl, He fohl B 9HW § IS &l Ul
o Hidishar g

You are helping a young couple who are recently married and are looking to buy a new washer

and dryer. The couple found a set they like and want to take advantage of the Labor Day sale

where your store is offering 25% off. After a while, when you think the couple is ready to make

the purchase, they announce that they want to think about their decision and will return to the

store next week. However, the sale ends tomorrow. How would you respond?

(a)

(b)

(d)

51 i 1 e 0 B i e B B 7 ) S it e
25% @1 ge dll|

Tell the couple that you will still give them 25% next week even though the sale ends
tomorrow.

el sl fGan & fopt o0 oG 8 W & U SA@ T HH Sl
THH & U vieied da|

Remind the couple that the sale ends tomorrow and encourage them to make up their
mind quickly.

el @ U 9Hg oF & fu Uidiied ®ul, Sl foml da gud g &
N F Yfod T8 o4 ol 6 TR P5 ged A 5

Encourage the couple to take their time, but don't mention the sale ending tomorrow so

they won't feel pressured.

wig! f IaId 1o fol o YA g T § 7 UC B W B dl 39 foU 9%
U fowE 1S Gl

Explain to the couple that the sale ends tomorrow and offer my business card if they have
any questions.

Options :

1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 67 Question Id : 7715134922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

YHamen foers %; del L 775 R e iE‘»'I,v’Reprtile is to lizard as flower is to

(a) UESI/Petal
(b) TEl/Stem

(c) TIcidgl¥/Daisy
(d) HTRH=S/Alligator
Options:

1.a

2.b
3.c
4.d

Question Number : 67 Question Id : 7715134922 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

YA s EE:'; dol L TG e iE‘»'Iz‘Reprtile is to lizard as flower is to

(a) UESI/Petal
(b) <Eil/Stem

(c) TIIdER/Daisy
(d) HIRH=S/Alligator
Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

DH-TT Uy ﬁ'ulﬁ & ufoefig W?Mv’hich one will replace the question mark?

i
L= T I (S N 5

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134923 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DH-T1 Ty ﬁ'«lﬁ' AR GEIIPE W?,’Which one will replace the question mark?

=
= T N S T X

Options:
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

Question Number : 69 Question Id : 7715134924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

IR $o1 Yddrd § a1 o ¥ dRiYd | ¥ §iex 9 ¢l oM &1 @AWl ga ol §
T 3 g I e 1 O TR g9 @ G Al 2 A S 59 Y UGN W I AR
&F@ﬂ? It is cold winter outside and a well-insulated house has its heater turned on. The front
door is opened and cold air rushes in. If the wind speed outside is very low, how would the cold
air enter the house?

Scenario A Scenario B

T U, 39 501 YA @ R Waled g

Scenario A, the cold air will flow towards the floor
exg o, 331 g4 B B AR Yaifea gl

Scenario B, the cold air will flow towards the ceiling
(c) AdB @I aﬁsm combination of Aand B
(d) a‘sﬁ gdl W @ IR :l'E-PI mﬂhe cold air will not enter the house

Options:
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134924 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

IR 41 Y0 § qu o ¥ dRIid W ¥ §eX I 81 M $1 @Al ga o9l ¢
S T AR A g1 A AR g4 @ W R A 5 5T Y R R & o
Gﬁ@ﬂ? It is cold winter outside and a well-insulated house has its heater turned on. The front
door is opened and cold air rushes in. If the wind speed outside is very low, how would the cold
air enter the house?

:1

Scenario A Scenario B

T U, 3 59 9% @1 SR WaRd g
Scenario A, the cold air will flow towards the floor

e, ¢ g4 @d @1 AR vaRd gt

Scenario B, the cold air will flow towards the ceiling
(c) AdB @I Gﬁ’@’fﬁ. combination of A and B
(d) E‘ﬁ:pf gdl W (7] I :l'Eapf H@ﬂﬁhe cold air will not enter the house

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

49 Ru o 4, o =& (e U e © @ W 96 FH g aa

In the diagram shown below, which of the pulleys will complete the least revolutions per minute?

(a) A
(b) B
(c) C
WM (el U] B @ @ W TEH de § U ol

The pulleys will make an equal number of revolutions per minute

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134925 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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49 Ru o 4, o =& (e U e © @ W 96 FH g aa

In the diagram shown below, which of the pulleys will complete the least revolutions per minute?

(b) B
c) C
WM (el U] B @ @ W TEH de § U ol

The pulleys will make an equal number of revolutions per minute

Options :
1.a
2.b
3.c
4.d

Part II

Question Number : 71 Question Id : 7715134926 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

¢ 3x6=18,5x3=16,8x2=20 8l 4x6® AH @I Gdl T
If3x6=18,5x3=16,8x 2 =20. Find the value of 4 x 6 =?

(a) 12
(b) 13
(c) 33
(d) 20

Options:
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 71 Question Id : 7715134926 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

¢ 3x6=18,5%x3=16,8x2=20 ol 4x6d HH &I Gdl M|
If3x6=18,5x3=16,8x2=20. Find the value of 4 x 6 =?

(a) 12
(b) 13
(c) 33
(d) 20

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134927 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

HY-/Statements:
ot wigmi St 2/l birds are tall.
] f’ﬁ, Hﬁ %}’Some tall are hens.

s/ Conclusions:

(i) ] gigri H}‘T %,’SDme birds are hens
(ii) ] ﬂﬁ NG| %,-"SDI’HE hens are tall

(a) HIHE {i}l"\EITEApf %,-’Dnly.»r conclusion (i) follows
(b) HHE {ii}l'\qﬁpf %fDnhr conclusion (i) follows
(c) AT (i)4T (i) el %,r’Ei‘L’th{'l} or (ii) follows
(d) = B (i)7 (i) ¥ B/Neither (i) nor (i) follows

Options:
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134927 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dy-d/Statements:

i ufgmi @&l §/All birds are tall.
] f’ﬁ, HPF %}‘Some tall are hens.

@Y /Conclusions:

(i) ] gigmi H}‘T %KSDme birds are hens
(ii) ] Hﬁ od %KSGme hens are tall

(a) HHE {i]l"\EITEApf %;'Dnl\,r conclusion (i) follows
(b) HIE {ii}l'\EIEpf %fl:)nh.»r conclusion (ii) follows
(c) AT (i)dT (i) Gel EE:‘,"Ei‘fher{i} or (ii) follows
(d) = &I (i)7 (i) WS &/Neither (i) nor (i) follows

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Frugal: Parsimonious :: ?

(a) Altruistic: Egotistic
(b) Love: Hate
(c) Rich: Poor

(d) Pleasure: Ecstasy

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134928 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frugal: Parsimonious :: ?

(a) Altruistic: Egotistic
(b) Love: Hate

(c) Rich: Poor

(d) Pleasure: Ecstasy

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DE-TT Uy ﬁlﬁ CAR IR ARG ?/Which one will replace the question mark?

15>/12 44>/25 64 53
3 8 ?

(a) 30
(b) 13
(c) 70
(d) 118


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134929 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DE-TT Uy ﬁlﬁ CARIGEEREC Y ?/Which one will replace the question mark?

Y Y
3 8 ?

(a) 30
(b) 13
(c) 70
(d) 118
Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

IEERGE qu T Yafda %?;'TG which group does the figure belong?

O e
g A
&|~, ~|)2)]|5 @| (
@ :
— [ _—
Group A }..s (7|8 e & @ 9
A *ilo Ao |7 [
Group B A A O
PR L P =1 A P
(a) A
(b) B

{c) 4 8l A 7 B /Neither A nor B
(d) Iude Ti/All of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134930 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addai247

IEERGE qu T Yafda %?;‘Tﬂ which group does the figure belong?

O @
tg A
&| ~ ~|)2)|S @ (
@ :
- [ _—
Group A }..s (7|8 e & @ 9
A *ilo = [
Group B A O
P ,«L[A T b I:'ﬂ[+ hn A
(a) A
(b) B

{c) 4 8l A 7 B /Neither A nor B
(d) Iude Ti/All of the above

Options:
1.a
2.b
3.c
4.d

Descriptive

GET IT ON
Google Play


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 76 Question Id : 7715134931 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR W gHioru &1 ogad &1 41 by e i 9@ &1 ogad &3
Derive Radar Range Equation OR Derive Friis Radio Link Formula.

Question Number : 76 Question Id : 7715134931 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR I THioRu & ogad & I1 by A8l ki §F &1 gdd B
Derive Radar Range Equation OR Derive Friis Radio Link Formula.

Question Number : 77 Question Id : 7715134932 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

&y 9 @ 27 SU@ Uy aYl SN WY L

What is Smith Chart? Explain its properties and applications.

Question Number : 77 Question Id : 7715134932 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Ry 91¢ 71 87 3H@! U qul SWER Wy B

What is Smith Chart? Explain its properties and applications.

Question Number : 78 Question Id : 7715134933 Question Type : SUBJECTIVE Consider As


https://applink.adda247.com/d/XhqWf9lSap
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Subjective : Yes
Correct Marks : 5

e o1 Wl T Aol & §R ° WR 9 fod)
Explain Kylstron OR Travelling Wave Tube

Question Number : 78 Question Id : 7715134933 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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Explain Kylstron OR Travelling Wave Tube

Question Number : 79 Question Id : 7715134934 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. U@ e YoIel ¥ wideren QHeH &1 & H8d 87

What is the importance of impedance matching in a microwave system? (2 3{®/marks)

b. I% WAdl® Wddd H 3GHz R 50dB 3 G¥ied gH & iy ffefewd fomr mr &
3R GRS G&l 55%¢, dl o idd ooy faeR @1 tRaed &Y dba: V10 =x
A parabolic reflector is designed to have a directivity of 50dB at 3GHz. If aperture
efficiency is 55%, calculate the half power beam width. Hint: VI0=m. (3 3@/ marks)

Question Number : 79 Question Id : 7715134934 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

a. U YA YUTell & Widere Qoo & 71 98 8

What is the importance of impedance matching in a microwave system? (2 3{®/marks)

b. U Wddil® Wadd H 3GHz W 50dB # efiddl g9 & foy afimfewd fowr mn &
IR GRE GO 55% ¢, o o id o SRR &1 tReae &t Tha: V10~
A parabolic reflector is designed to have a directivity of 50dB at 3GHz. If aperture
efficiency is 55%, calculate the half power beam width. Hint: V1I0=n. (3 3®/marks)

Question Number : 80 Question Id : 7715134935 Question Type : SUBJECTIVE Consider As
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Addal247

Subjective : Yes
Correct Marks : 5
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Describe Software Defined Radio and its major features. How it can be used in a Transmitter
system?

Question Number : 80 Question Id : 7715134935 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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Describe Software Defined Radio and its major features. How it can be used in a Transmitter
system?
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